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• !�""����#� ��� $�����%& ��'����( ��#� #� �#& ) ��������

����%
 ��'���* �����
 ) ������������%
 ��'����

• ��
��� "��"�����%� +�"���% ��""����#����%& ��'�����

ω(1)
n # ω(2)

n ,�"$��#�����-.�%� ��������

• /%����� �������#+�"�#� ������% ��""����#����%& ��'���

��� # ����#+�%� �"-��#0 ���	 +��
ω(1)
n

ω
(2)
n

= f(D1, D2) = const�

• �"-# #���"��% ω(1)
n 	 ω(2)

n # #��#���0 1�"���"�. ��������'����

D2	 ��1�� �%+#"-#�. #��#���2 1�"���"�. �������'���� D1�

�� ���

����	 3�$���#
 "���1��.4

��������� ���	����

w(0) = 0, w′(0) = 0, w′′(l) = 0, w′′′(l) = 0.

���"�����%� +�"���% ���#"0� �� "-���25#& $���������(

ωn =
√

D
ρl4

Ωn	 ��� Ωn ���#"#� ��-.�� �� n�

!�""����#� ��� "���1�0	 #��25#� ���-#+�%� 6#�#+�"�#� #

�������#+�"�#� &�������#"�#�#� 7����

∀n : Ω(1)
n = Ω(2)

n . ⇒ ω(1)
n

ω
(2)
n

=

√√√√√√D1ρ2l42
D2ρ1l41

.
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!�����% $-�"�#�%( −a ≤ x ≤ a	 −b ≤ y ≤ b�

��������� ���	����

w|x=±a = 0,
∂2w

∂x2

∣∣∣∣
x=±a

= 0, w|y=±b = 0,
∂2w

∂y2

∣∣∣∣
y=±b

= 0.

���"�����%� +�"���% ���#"0� �� "-���25#& $���������(

ωnm =

√√√√√ D

ρa4
Ωnm, Ωnm =

⎛
⎝m− 1

2

⎞
⎠2 π2 +

⎛
⎝n− 1

2

⎞
⎠2 π2

(a
b

)2
.

!�""����#� ��� $-�"�#�%	 #��25#� ���-#+�%� 6#�#+�"�#� #

�������#+�"�#� &�������#"�#�#	 �� ��#�����%
 $������� a/b�

∀n, m : Ω(1)
nm = Ω(2)

nm. ⇒ ω(1)
nm

ω
(21)
nm

=

√√√√√√D1ρ2a42
D2ρ1a41

.
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!�����% �#-#���#+�"��
 ���-�+�#( R ) ���#�" �#-#�����

8#-#���#+�"�#� �����#���%( z	 θ�

��������� ���	����

uθ(0, t) = 0, w(0, t) = 0, ϕz(0, t) = 0,

uθ(π, t) = uθ(−π, t), w(π, t) = w(−π, t), ϕz(π, t) = ϕz(−π, t).

���"�����%� +�"���% ���#"0� �� "-���25#& $���������(

ωn =

√√√√√ D

ρR4
Ωn, where Ωn depends on n only.

!�""����#� ��� ���-�+�#	 #��25#� ���-#+�%� 6#�#+�"�#� # ����

����#+�"�#� &�������#"�#�#�

∀n : Ω(1)
n = Ω(2)

n ⇒ ω(1)
n

ω
(2)
n

=

√√√√√√D1ρ2R4
2

D2ρ1R4
1

.
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9�"$��#����% /�:� ��#��� 3����"#�#�"�4

���� �� ����	
���
���� �������� � ����	
���
���� �������	�� ���������

 s 

���� �� ����	
���
���� �������	�� ���������

�����
	
�  
�
��	
�����! ��
	�����! �������
�

�$#��-.�%� �����#���% s	 ζ # �#-#���#+�"�#� �����#���% z	 ϕ(

z = R(sinα s + cosα ζ), ϕ = cosα s− sinα ζ. 3;4

!�����% "$#��-.��
 ���-�+�#(

−l/2 ≤ Rs ≤ l/2, −a/2 ≤ Rζ ≤ a/2. 3�4

<��". R ) ���#�" �#-#����	 α ) ���- $��'��� �#���� "$#��-#�
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∇ · T = ρü, ∇ ·M + T× = 0. 3=4

ϕ = −n× (∇u) · n, T = T · a +Nn. 3>4

T · a + 1

2
(M · ·b)c = 4A · ·ε, MT = 4C · ·κ. 3 4

ε =
1

2

(
(∇u) · a + a · (∇u)T

)
, κ = (∇ϕ)·a+1

2
((∇u) · ·c) b. 3?4

<��". T 	 M ) ������% �"#-#
 # ��������	 ρ ) $����&��"���0

$-����"�. ��""%	 u	 ϕ ) ������% $�����5��#
 # $��������	 ε	 κ

) ������% ��6�����##	 4A	 4C ) ������% 1�"���"�#	 a ) ��#�

�#+�%
 ������ � ��"���-.��
 $-�"��"�#	 n ) �����-. � $����&�

��"�#	 b = −∇n	 c = −a× n�

�	
��
#���$� �	�����
� �
���
�
 
����! �������
�

����$�-�1#�	 +��

ε = 0. 3@4

A������#� ��#1��#0(⎛
⎜⎝sin2 α ∂4

∂s4
+ cos2 α

∂4

∂ζ4
− 1

4

∂4

∂s2∂ζ2

⎞
⎟⎠
⎡
⎣ D

ρR4
(�̃ + 1)2w + ẅ

⎤
⎦−

−sin2 2α

4
�̃ẅ = 0.

3B4

A������#� "����"���"�# ��6�����#
(

sin 2α
∂2w

∂s∂ζ
+ sin2 α

∂2w

∂s2
+ cos2 α

∂2w

∂ζ2
= 0. 3C4

<��". w ) $�����5��#� ���-. n	 D ) #��#���0 1�"���"�.�

!�D��#� �������#0 ��#1��#0	 ����-�����025�� �������#2 "���

��"���"�# ��6�����#
(

w(s, ζ, t) = W (s, ζ) eiωt. 3;�4



W =
3∑

j=1
[(As

j(pjs + qjζ) +Bs
j ) sin[λj(cosα s− sinα ζ)]+

+(Ac
j(pjs + qjζ) +Bc

j) cos[λj(cosα s− sinα ζ)]],

pj = sinα− βj, qj = cosα + βj,

βj =
2 cos 2αΩ2

9 cosα (λ4
j + (Ω2 − 1)λ2

j + 2Ω2)
.

3;;4

As
j	 B

s
j 	 A

c
j	 B

c
j ) ���"����%	 λj ) ����# &�������#"�#+�"����

�������#0

λ6 − 2λ4 + (1− Ω2)λ2 − 4

3
Ω2 = 0, Ω =

√√√√√ρR4

D
ω. 3;�4

E���#+�%� �"-��#0(

u

⎛
⎝ l

2R
,
a

2R
, t

⎞
⎠ = 0, u

⎛
⎝− l

2R
,
a

2R
, t

⎞
⎠ = 0,

u

⎛
⎝ l

2R
,− a

2R
, t

⎞
⎠ = 0, u

⎛
⎝− l

2R
,− a

2R
, t

⎞
⎠ = 0.

3;=4

%���#���
� 	�&���
�
���

���"�����%� +�"���% ���#"0� �� ���& $���������(

Ωn = Ωn

⎛
⎝α, l

R
,
a

R

⎞
⎠ , n = 1, 2, 3, . . . 3;>4

!�""����#� ��� ���-�+�#	 #��25#� ���-#+�%� 6#�#+�"�#� # ����

����#+�"�#� &�������#"�#�#	 �� ��#�����%� $�������% α	 l/R	

a/R� 7����

∀n : Ω(1)
n = Ω(2)

n ⇒ ω(1)
n

ω
(2)
n

=

√√√√√√D1ρ2R4
2

D2ρ1R4
1

. 3; 4
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   LASER

 BS

EOM

Acoustic

excitation
sample

GaAs

J

Spectrum

analyzer

= cos t
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• F����#+���%
 +�"����%
 �#�$�����

• G�+ -����� ) $0��� �$����-������ �#������ 3�� ��+��4�

• G�+ -����� 6���"#����"0 " ��������
 �D#���
�

• H�"���% ������ ��'���� #����02�"0I

'$���(�������1�� #����0�. "��"�����%� +�"���% �������'������

��1�� #����0�. "��"�����%� +�"���% �������'����� �� �#����

$��-�1���

)����
 ��*��
�
(

• ��# ����� "�����D��## ��1�� ��������# �������'���� #

$��-�1�#�% "��1�� $�-�+#�. #�6�����#2 � �������'����I

• J��#� �"-��#0 "���#���#0 �������'���� " $��-�1��
 # "��

��#���#0 $��-�1�# " �����
 $�#���� �$�#��-.�%I

• F$����-��#� ��&��#+�"�#& &�������#"�#� �������'���� $�

"��"�����%� +�"����� "#"���% �������'��� K $��-�1���
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���� �� ����	
���
���
 ���������

ρ1	D1	R1 )6#�#+�"�#� # �������� &�������#"�#�# ������#-#�����

ρ2	D2	R2 )6#�#+�"�#� # �������� &�������#"�#�# �#�����#-#�����

���
������ &����


J#�����#+�"�#� �"-��#0 "���#���#0 ���-�+��(

w(1)
∣∣∣∣
θ=0

= w(2)
∣∣∣∣
θ=0

, u
(1)
θ

∣∣∣∣∣
θ=0

= − u
(2)
θ

∣∣∣∣∣
θ=0

, ϕ(1)
z

∣∣∣∣
θ=0

= ϕ(2)
z

∣∣∣∣
θ=0

.

�#-��%� �"-��#0 "���#���#0 ���-�+��(

T
(1)
θr

∣∣∣∣∣
θ=0

= T
(2)
θr

∣∣∣∣∣
θ=0

, T
(1)
θθ

∣∣∣∣∣
θ=0

= − T
(2)
θθ

∣∣∣∣∣
θ=0

, M
(1)
θz

∣∣∣∣∣
θ=0

= M
(2)
θz

∣∣∣∣∣
θ=0

.

A"-��#0 ��������"�# ���-�+��(

w(k)
∣∣∣∣
θ=0

= w(k)
∣∣∣∣
θ=2π

, u
(k)
θ

∣∣∣∣∣
θ=0

= u
(k)
θ

∣∣∣∣∣
θ=2π

, ϕ(k)
z

∣∣∣∣
θ=0

= ϕ(k)
z

∣∣∣∣
θ=2π

.

,�-��
� &����


w(k)(θ, t) = W (k)(θ) eiωt, W (k)(θ) =
3∑

j=1
[A

(k)
j sin(λ(k)jθ)+B

(k)
j cos(λ(k)jθ)].

<��". ω ) "��"�����%� +�"���%	 A
(k)
j 	 B

(k)
j ) ���"����%	 λ(k)j )

����# &�������#"�#+�"���� �������#0

λ6
(k) − 2λ4

(k) + (1− Ω2
(k))λ

2
(k) − Ω2

(k) = 0, Ω(k) =

√√√√√√ρkR
4
k

Dk
ω.



/%����� Ω(2) � ��+�"��� �"�����
 $��������
� 7���� ��,66#�#�

���% � +�"������ �������## ����� ���#"��. ��-.�� �� R1/R2	

ρ1/ρ2 # D1/D2� �-�������-.��	 "��"�����%� +�"���% #��2� "-��

��25#
 �#�(

ωn =

√√√√√ D2

ρ2R4
2

Ω(2)n, Ω(2)n = Ω(2)n

⎛
⎝R1

R2
,
ρ1
ρ2
,
D1

D2

⎞
⎠ .

%���#���
�

!�""����#� ��� "#"���% �#-#���#+�"�#& ���-�+��	 #��25#� ����

-#+�%� 6#�#+�"�#� # �������#+�"�#� &�������#"�#�#	 �� ��#���

���%� ����#+�%� �"-��#0 # ��#�����%� $�������%

R1

R2
=

R3

R4
,

ρ1
ρ2

=
ρ3
ρ4
,

D1

D2
=

D3

D4

�����0 "#"���� "�"��#� #� ��������-�+�# 3$�������% R1	 ρ1	 D14

# �#�������-�+�# 3$�������% R2	 ρ2	 D24�

/����0 "#"���� ) #� �#�������-�+�# 3$�������% R3	 ρ3	 D34

# ���������-�+�# 3$�������% R4	 ρ4	 D44�

ω(1)
n K "��"������%� +�"���% $����
 "#"���%�

ω(2)
n K "��"�����%� +�"���% �����
 "#"���%�

7���� ω(1)
n /ω(2)

n �� ���#"#� �� ������ n(
ω(1)
n

ω
(2)
n

=

√√√√√√D2ρ4R4
4

D4ρ2R4
2

.

.�
��
�

����
� � ���


F�����+#� ω(0)
n ) "��"�����%� +�"���% �#�������-�+�# 3��� �����

���-�+�#4� ��������	 +��(

ω(1)
n = ω(0)

n +εω̃n, ε =
ρ1R

2
1

ρ2R2
2

, δn =
ω(1)
n − ω(0)

n

ω
(1)
n

·100% ∼ ε·100%.

7�+��"�. #������#0 "��"�����%& +�"���( 10−4%�



��� !/) ��#�,�)  ��������

��/� �����#���	 ���� 7#����L 3 �!��	���"�������� ��������

�
# �# # �	$$�4

����  � !���	�" ������" ����������

• F����#+���%
 +�"����%
 �#�$�����

• ��-� ����#-����� #���� ����+�%
 ���#�" ��#�#��% 3�� ��-.4�

• /-#0�#� $��-�1�# �� "��"�����%� +�"���% �������'�����

• ��-� ����#-����� �����
"����� �� �������'����

'$���( / $�#��#$�	 #"$�-.�����#� ��� $����-0�� #����0�.

"��"�����%� +�"���% �������'������ ����#+�"�#	 " $���5.2 ���

#����02�"0 +�"���% "#"���% �������'��� K ����#-�����

)����
 ��*��
�
(

• F$����-��#� ��&��#+�"�#& "��
"�� �������'���� $�

+�"����� "#"���% �������'��� K ����#-�����

• ��1�� -# �%��-#�. "��"�����%� +�"���% �������'���� #�

"$����� "#"���% �������'��� K ����#-����I
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� %��
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	� %������&�

substrate 

���� )� ����
���
	�� *�+� ,��	�� %-����������&�

/������$� �������
� �
�
��$

J���#-����(

D1u
IV + ρ1ü = 0, u(0) = 0, u′(0) = 0, u′′(L1) = 0.

�����"���1��.(

D2v
IV + ρ2v̈ = 0, v(0) = 0, v′(0) = 0, v′′(L2) = 0.

/��#����
"��#� ����#-����� # �����"���1�0(

D1u
′′′(L1) = C(u(L1)−v(L2)), D2v

′′′(L2) = −C(u(L1)−v(L2)).



F�����+��#0( λ2 =

√√√√√ ρ1
D1

ω	 μ2 =

√√√√√ ρ2
D2

ω� H�"������ �������#�(

[
1 + cos(λL1)ch(λL1)

](
1 + cos(μL2)ch(μL2)+

+
C

D2μ3
[sin(μL2)ch(μL2)− cos(μL2)sh(μL2)]

)
+

+
C

D1λ3
[sin(λL1)ch(λL1)− cos(λL1)sh(λL1)] (1 + cos(μL2)ch(μL2)) = 0.

'$��#����$� �������
� �
�
��$

u(0) = A sin(Ωt), A = const.

!�D��#� #���� "-���25#
 �#�(

u =
[
P1 cos(λ∗x1) + P2 sin(λ∗x1) + P3ch(λ∗x1) + P4sh(λ∗x1)

]
sin(Ωt),

v =
[
Q1 cos(μ∗x2) +Q2 sin(μ∗x2) +Q3ch(μ∗x2) +Q4sh(μ∗x2)

]
sin(Ωt),

��� λ2
∗ =

√√√√√ ρ1
D1

Ω	 μ2
∗ =

√√√√√ ρ2
D2

Ω�

011��
 �
���
������� ����1
	����
� �������
!(

u(L1, t) = 0.

A������#� �-0 �$����-��#0 Ω(

1+cos(μ∗L2)ch(μ∗L2)+
C

D2μ3∗
[sin(μ∗L2)ch(μ∗L2)−cos(μ∗L2)sh(μ∗L2)] = 0.

�-���25�� "�����D��#� #���� ��"��(
C

D1λ3

 C

D2μ3
�

�-�������-.��	 Ωn �+��. �-#��# � "�+����� �����"���1�0�


